
 

 

Example 1: 𝑥2 − 9𝑥 = 0 

   FACTORE FORM: 𝑥(𝑥 − 9) = 0   

  SOLVE 𝑥 = 0 𝑎𝑛𝑑 𝑥 = 9 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 𝑠𝑒𝑡{0,9}      

  

Example 2:  𝑭𝑨𝑪𝑻𝑶𝑹     11𝑥2 − 16𝑥 − 12 = 0 

   𝑥2 − 16𝑥 − 132 = 0  *slide and divide 

   (x-22)(x+6)=0 

𝑥 = −
22

11
= −2,

6

11
 𝑭𝒂𝒄𝒕𝒐𝒓𝒆𝒅 𝒇𝒐𝒓𝒎 (𝑥 + 2)(11𝑥 − 6)      

 

Example 3:    𝑺𝑶𝑳𝑽𝑬  3𝑥2 + 5𝑥 + 2 = 0 

   𝑥2 + 5𝑥 + 6 = 0  *slide and divide 

   (x+3)(x+2)=0 

   𝑥 = −
3

3
, −

2

3
 𝑜𝑟 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 𝑠𝑒𝑡 {−1, −

2

3
}      

 

Example 4: (2y+3)2= 9 *square root of both sides 

   2𝑦 + 3 = ±3 

   2y+3= 3 and 2y+3=-3 

   y=0 𝑎𝑛𝑑 𝑦 = −3 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 𝑠𝑒𝑡 {−3,0} 

 



Examples Quadratic 


